PROBLEM OF THE WEEK
Solution of Problem No. 3 (Spring 2010 Series)

Problem: If f, g are real-valued functions of one real variable, show that there exist
numbers x,y such that 0 <z <1,0<y <1, and

1
2y = f(2) —g(y) = 7
Solution (by Kevin Laster, Indianapolis, IN)

Since

L=[1—=f1) =g+ [f(1) +9(0)] + [f(0) + g(1)] = [f(0) + 9(0)],

one of the numbers

1= (1) =g [F1) +9(0)]; 1F(0) + g(D)], [£(0) + g(0)] is at least i-

Thus the relation holds for at least one of the points (1,1),(1,0), (0, 1), or (0,0).
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